AR RFREXFMERBRE—ER NFER) oM SF 8ARE

- 5= BN
TR B TR o | mEwke | PR | B2 | ow | mEwe | B
Ao g | 837 [ 0.72 | mmeE | W8 | Hod |wimE| wwE | —
N E = | H8 [mEE| mmE | — | Hos |wmmtE| wEE | —
F o # | S41 [ 0.72| #EeE | HI0 | S63 |HWE| FWE | —
EHEZ BAR) | S52 | 0.77 | #5&F H19 S62 | 0.77 | IR H19
£OH#H A /| S41 [ 0.73 | #HEEF H8 S44 | 0.84 | IR H26
FOH R b S37 | 0.71 | 45EAE — S39 [ 0.77 | EAE —
FOR OB S38 | 0.79 | IR H24 S38 | 0.74 | #EsRFE H10
BT | W4 |pEE| mEE | — | 4 mEE| seE | —
B — &z L /| S43 | 0.72 | HEEF HY S40 | 0.75 | 5P E | —
T/ (BAR) S33 | 0.75 | #@sRiAF [S63,H17} S40 | 0.75 | #f@5RiFA H17
o N | S41 | 0.72 | AR HY S42 | 0.79 | #EIRFE H26
PN # N S42 1 0.79 | #EsEF H16 S44 | 0.79 | FHIRF H16
XK # % = I S49 | 0.87 | IR H20 S49 | 0.87 | IR H20
= m L | W8 |HEE| mEE | — | N8 [mEE| pEE | —
K % W /| S40 | 0.75 | FE5EF H20 | S41 | 0.75 | 4@ H26
Bo/owm N S37 | 0.77 | #Es&x H7 S38 | 0.76 | IR H26
B | | W6 [wE| mEE | — | ho |mmE| wEE | —
i B OE Z S43 | 0.76 | #EsEF H21 S44 | 0.76 | FHEIRF H21
B8 m b | W0 [wWE| mEE | — | w0 |wmE weE | —
= 2 i | RS |mmE| mwE | — | R |mEE| wEE | —
ZZILE S47 | 0.75 | #EsRFE H21 S47 | 1.07 | #éEs&i% H21

“ZIH= (R | 62 | 0.75 | mmAE | — | w2 [ 1.10 | mmEnE | —
£ - B @ 0 | W5 |pmE| mmE | — | w5 |wmE weE | —
5 =5 @ /b S39 | 0.72 | #EsEF H18 S43 | 0.87 | fHIRF H25
£ B oA /| S44| 071 | AEREFE H8 S45 | 0.71 | 452 FE | —
£ 2 B & /N S45 | 0.69 | #E5EF H17 S46 | 1.27 | BT E —
g AN B @ /| S49 | 071 | HRFE | — S48 | 0.79 | #5EaFE | —
%5 t B @ /b S50 | 0.83 | ETE — S50 | 1.95 | fEAE —
m & @ /I | Sb3 | 0.96 | WEFE | — S53 | 2.32 | #EEAAE | —
MBEE = | 556 |HEE HEE | — | 5% |mEE| wEE | —
mEEE = | 63 WA mEE | — | 563 |wmmE wEE | —
B B B b S54 | 0.74 | #ETE — Sb4 | 2.93 | MEAE —
i H /M| S55 | 0.81 | f#RFE | — S55 | 2.86 | MAFE | —
T B @ | 557 |pWE| mEE | — | 557 |mwE| pEE | —
B E — | 551 |wmE| mmE | — | S5 |mmE| wEE | —
BEE=N (B | 557 |EE| mEE | — | 557 |mE| wEE | —
B s 1o | 558 [WE| mmE | — | 58 |mmE| wEE | —
i m | H3 |mEE| mmE | — | 3 |mEE| wEmE | —
® B ®m | N |mwE| mEE | — | N3 |mmE weE | —
I pa N S41 1 0.72 | #@5Ri%F [H19,H20] S39 | 0.77 | #5iFA H25




AR RFREXFMERBRE—ER NFER) oM SF 8ARE

® & & S| o | mmwn | B2 | B2 | om | mEwn | P2
= T | H26 |mEE| mwE | — | He6 |mwE| mwmE | —
% 4 /N | S55 | 0.68 | A E | — | S5 | 1.27 | mmArE | —
T #% @B/ S33 | 0.76 AR E H8 S38 | 0.99 | #HEAE —
T &% H E® /M S45 | 0.76 t#HoAE  |H21,H22] S45 | 0.76 HRE H2?2
THE@EAE/N (B S47 | 0.73 AR E H14 S47 | 1.48 | #H@f=E —
b4 I = R 1| B S42 | 0.75 HRE H15 S43 | 0.83 HRFE H27
— 2z L b S39 | 0.76 AR E H21 S38 | 1.35 AR E H23
— 2L E = Ih S42 | 0.72 HRE H12 S43 | 0.84 HRE H27
753 PN N S44 | 0.76 AR E H24 H19 |(#hfE| e —
723 = N S38 | 0.75 HRE H21 S42 | 0.91 HRE H23
BE & B /I S49 | 0.70 | #HsBA=E — S49 | 0.70 | #HBA=E —
LN PN N S47 | 0.80 HRE H7 S47 | 1.47 | #af=E —
X - & I S42 | 0.76 AR E H20 S43 1 0. 83 AR E H27
® @& | R |mWE mwE | — | M7 |waE| mmE | —
&l E = S41 | 0.87 | #s&f= — S43 | 0.80 IR E H27
T B OE = N | H28 |HWE| FEE | — | M4 |waE| mmE | —
T ) N S48 | 0.68 | #HsEAE — S48 | 2.23 | #HEAE —
&\ FE " /N S49 | 0.72 | A E — S49 | 2.33 | #HEAE —
B OE & S51 | 0.77 AR E H18 S51 1.60 | #HRAE —
i H N S40 | 0.73 HRE H16 S44 | 0.79 HRE H27
N = N | RS |mwE| mmE | — | RS |mwE| mwE | —
B /B S44 | 0.74 HRE H9 S44 | 0.74 HRE H9
I A=\ S33 70 AR E H6 S37 | 0.84 AR E H24

ThaEE=A (BB | S38 66 | 4R H8 S45 | 0.66 | #ETE | —

£ = | S39 16 | #HE5&F H22 S38 | 0.94 | #EsaF H22

EhE B Z S44 16 | #H5EF H23 S44 1 0.76 | #5RiF H18

| o Fm | S4 14 | #E5EF H9 S42 | 0.74 | #EsEF HO

Cle|e(e|e|e

E—&/ (%) S41 15 | #H5EF H20 | S42 | 0.75 | #E5&i% H20

£ — & @ /N | S47 | 0.76 | #EoEF H20 SAT | 1.54 | @EFE —

Mo/ Em R4 |#THE| #lE — R4 |#FTHE| #lE —

Em/NE%E Z /| S38 | 0.66 | HETE — S38 | 0.75 | #EsaF H26

o &/ | S38 | 0.75 | AETRFE H6 S45 | 0.87 | #HEAE | —

/N &= | S46 | 0.74 | FETRE H11 S41 1 0.79 | #EsaF H25

- IsfBlX. [MERR] W0 THEFE] EHHBEE. HMRZHORIE.
MR EHIHHEE. MEFEIETTROMETT,




